RRRRRRRRRRRRRRRRRRRRRRRRR RS

Aweard
Regular polygons (2D
shapes) have all sides
and angles the same.
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Irregular polygons (2D
shapes) have at least
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Aweard Q
A right angle has 90°.
It is a quarter of a 90°
turn because a whole
L]
_

turn is 360°. You can
protractor or the ] u

measure it by using a
corner of a piece of g
paper. You show a
right angle by using a
square in the angle.
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A right angle has 90°.
It is a quarter of a 90°
turn because a whole
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turn is 360°. You can
protractor or the ] [

measure it by using a
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paper. You show a
right angle by using a
square in the angle.
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Aute Angle

Aweard

80°
An acute angle is an
angle with less than
90°.
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Perimeter:

6cm+2cm+6cm+2cm = 16cm Perimeter:

2cm+2cm+2cm+2cm+2cm+2cm

= 12cm

Perimeter:
6cm+6¢cm+1.5cm+3cm+3cm+3cm+1.5cm+6¢cm

= 30cm

Perimeter:
3cm+5cm+6cm+2cm+3cm+2cm =
21lcm
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Area:
2cmx3cm = 6cm
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